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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of

this question paper.

2. Answer any three questions from Part A and any two

questions from Part B.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi; but the

same medium should be used throughout the paper.
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1. What Is the need for public soctor? Explain how tho public sector performs the
distribution function in an economy.
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2. What is meant by positive externalities? Explain why markets fall tol'ta%hilja:g
socially efficient level of output in the presence of a positive externality

suitable diagrams.
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3. How does the statutory incidence of a tax differ from ecopomic ir?ciqence?
Highlight the role of price elasticities of demand and supply in the distribution
of product tax burden between buyers and suppliers of a product. Use

suitable diagrams.
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4. Explain how cap-and-trade system can be used as a policy option to control
any negative externality. Examine the responsiveness of producers to
inflation under emission fee and cap-and-trade systems of pollution control.
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5. What is Pareto efficient allocation. Explain the necessary conditions for
achieving Pareto efficient allocation in a pure exchange economy and in a
production economy.
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8. Write short notes on any two of the following:
(&) Incomplete markets and market failure
(b) Coase theorem

{(¢) Public provision vs public production of a good

6. RFRRyT ¥ ¥ ivd & w #Rw Rowft Bfim
() T TR S IR S [{wear
®) _E Y_T

(F) TRSAT NS 977 Arad (45 I412d UF F=21

(500)



